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Treatment Response Patterns: Alpac 
Pure Deciduous Types: D & D(C) 

Harvest (cc)

Break-up Aw_comp

Aw_comp

100%

100%

Aw_comp 1 - 3

1 - 3

Cover Type

Post Type% AreaDisturbance Type Yield Curve Number

 

100% Aw(S)

Aw(S)

Harvest (cc)

Break-up

100% Aw(S)

4, 5, 6

4, 5, 6

 

100%

100%

Aw(Pj)

Aw(Pj)

Aw(Pj)

Harvest (cc)

Break-up 7

7

 
 

Aw_Comp
"A Density"

Break-up 100% Aw_Comp 1-3

 
 
Legend (% Crown Closure) 
Aw_comp = 100% deciduous (Aw,Bw,Pb) 
Aw(S) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Sw,Sb,Fb)  
Aw(Pj) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Pj)                                               
AwS = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Sw,Sb,Fb)                                                                                          
SAw = ≥50% coniferous (Sw,Sb,Fb); ≤50% deciduous (Aw,Bw,Pb)                         

 
 
Note: Fire is not considered a part of natural breakup here. 
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Treatment Response Patterns: Alberta-Pacific 
Mixedwood Types: DC / CD 

 
 

AwS

Harvest (cc)

Break-up

100%

100%

AwS

AwS 8,9

8, 9Cover Type

Post Type% Area
Disturbance Type

Yield Curve Number

100% AwPj

AwPj

Harvest (cc)

Break-up

100% AwPj

10

10

 
 

SAw

Harvest (cc)

Break-up

100%

100%

SAw

SAw

11, 12

11, 12

 
 

 
Legend (% Crown Closure) 
Aw = 100% deciduous (Aw,Bw,Pb) 
Sw = 100% coniferous (Sw,Fb) 
Aw(S) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Sw,Sb,Fb)  
Aw(Pj) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Pj)                                               
AwS = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Sw,Sb,Fb)                                                                                          
SAw = ≥50% coniferous (Sw,Sb,Fb); ≤50% deciduous (Aw,Bw,Pb) 
AwPj = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Pj)                                                                                          
PjAw = ≥50% coniferous (Pj); ≤50% deciduous (Aw,Bw,Pb) 
 
Note: Fire is not considered a part of natural breakup here.  
          Post type is dependant on individual FMU objectives.  
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Treatment Response Patterns: Alberta-Pacific 
Coniferous Types: C 

100%

100%

Sw

Sw

Harvest (cc)

Break-up Sw

13, 14, 15

13, 14, 15

Cover Type

Post TypeDisturbance Type
% Area Yield Curve Number

 

Sb

Harvest (cc)

Break-up 100%

100%

Sb

Sb 16, 17, 18

16, 17, 18

 

Pj

Harvest (cc)

Break-up

100%

100%

Pj

Pj

19, 20, 21

19, 20, 21

 

Lt Break-up 100% Lt

 
 
 
 
 
 
Legend (% Crown Closure) 
Sw = 100% coniferous (Sw,Fb) 
Sb = 100% coniferous (Sb,Fb) 
Pj = ≥80% coniferous (Pj) 
Lt = ≥80% coniferous (Lt)  
AwS = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Sw,Sb,Fb)                                                                                          
SAw = ≥50% coniferous (Sw,Sb,Fb); ≤50% deciduous (Aw,Bw,Pb) 
AwPj = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Pj)                                                                                          
PjAw = ≥50% coniferous (Pj); ≤50% deciduous (Aw,Bw,Pb)                          
 
Note: Fire is not considered a part of natural breakup here. 
 

 



   

      4 of 4 
 

Treatment Response Patterns: Alberta-Pacific 
Deciduous with Understory Types: DU 

 

<600 SPH
Harvest (cc)

>=600 SPH
Harvest (UP)

100%

100%

Aw(S)

SAw @40yrs

Aw(U)

Break-up 100% AwS @60yrs

4,5,6

11, 12

8 - 9

Cover Type

Post TypeDisturbance Type % Area Yield Curve Number

 

Aw(S)(U)

<600 SPH
Harvest (cc)

>=600SPH
Harvest (UP)

Break-up 

100%

100%

100%

Aw(S)

SAw @40yrs

AwS @60yrs

11, 12

8, 9

4,5,6

 

Aw(S)(U)
"A Density"

Break-up 100% AwS @60yrs 4,5,6

 
 
Legend (% Crown Closure) 
Aw_comp = 100% deciduous (Aw,Bw,Pb) 
Aw(S) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Sw,Sb,Fb)  
Aw(Pj) = ≥80% deciduous (Aw,Bw,Pb); ≤20% coniferous (Pj)                                               
AwS = ≥50% deciduous (Aw,Bw,Pb); ≤50% coniferous (Sw,Sb,Fb)                                                                                          
SAw = ≥50% coniferous (Sw,Sb,Fb); ≤50% deciduous (Aw,Bw,Pb)                           
Aw(U) = ≥80% deciduous; ≥20% coniferous understory (Sw,Sb,Fb,Pj) 
Aw(S)(U) = ≥80% deciduous (Aw,Bw,Pb);  ≤20% coniferous (Sw,Sb,Fb); coniferous understory 

 
 
Note: Fire is not considered a part of natural breakup here.  


